TXT BOOK EXERCISE 13.1

Q. 1. From the given figure choose the letter Solution.
that indicates the location of the points. HE
Q. 3. Plot the pomts 2, 3) and (3 2)‘
graph paper check both are plotted i- i
location. '
. Solutlon. As in (2 3) x—coordmate k 3
: 8 y-coordinate is 3. ey
(l) ©,2) ; @ (2,4 On graph sheet draw the X-axis alﬂfY ')"f
@) 3, 3) @) 5,3) | Start from O (0, 0) and move 2 units m-k
) @ 2 ™) (3,1 and then 3 units up, you reach the. poi at (2,
vii) (2, 0) : |  Similarly, locate the point (3, 2) S
SHatiin _ A Fromthe graph you can see that-«&
() (0,2) is point E o %3 and (3. 2) are two different points. |
(#) (2, 4) is point B. i e TR
(#ii) (3, 3) is point D il R
(zv) (5, 3) is point C. S I i mnE s s
) (4,2) is point G G T T L G R R
2 > e EY [R5 3 k .‘.._,'_4 Phank tidy  nvas
(vi) (3, 1) is point A. , Mt ch - M
(vii) (2, 0) is point F. ' ‘ il G B s :
Q. 2. Plot the following points on the graph dab it HEE s _.
paper : b “.'-m?t' .j::_ e A -;- &
0 AGS ) B2 4) b T
i) C (5. 2) @v) D (0, 4). i Qt :{ Plot the lullowinq points
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: ' ' : (@ ) (0, 0)’ (2, 2)“; 4, 4); %




€)Y, 4); (1, 4); (2, 4); @3, 4
d) (2, 1); 3, 2); 4
Solution. ) o
(a) Plot the given points (3, 7),

nd 3 0) on X-axis and Y-axis. i
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By joining these t points, we came to know that
tese points lie on a straight line.

(b) Plot the given points (0, 0), (2, 2), (4, 4)
and (6 6) on X~ax1s and Y-axis.
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By joining these points we came to know that
these points lie on a straight line.

(c) Plot the given points (0, 4), (1, 4), 2, 4)
and (3, 4) on X-axis and Y-ax1s
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By joining these points we came to Kn

Jine.
these points lie on a straight

(d)pPlot the given points 2, 1), 3, 2,
and (5, 5) on X-axis and Y-axxs
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By joining these pomts we came to know that
these points do not lie on a straight line.

Q. 5. Write the co-ordinate of the vertices
of each figure shown in graph

.

Solutlon. The vemces of each ﬁgu:e
graph are represented as below :
(i) For rectangle OABC il "k;‘?"" ‘
-0(0,0), A (2,0), B (2,3), C(0,3)~:
(it) For parallelogram PQSR
PGQQ@%R&&&
Q. 6. Draw a llne join '
(7, 0). Check whether the poin !
Solution. Plot the poi
on X-axis M Y~axxs :







